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<HADAXRD>
@ tan®=sinB

cos®
@) sin20+ cos26=1

©sin(90° —0)HE XL TIETEEMLROONET

<HADBKD sin,cosDIMETEER>
@ sin (a+B) =sinacosB+cosasinp
@ sin (a—PB) =sinacosB—cosasinp
@ cos (a+pB) =cosacosp—sinasinp
@ cos (a—pB) =cosacosB+sinasinp

ColcEEENLEI--EDIE
BHCEEHLTHELLS !

5 sin(90° —B)=sin90° cos®—cos90° sin® (sin90° =1, cos90° =0 &KY)

=cos0

Otan(a=xB) &, D&sin,cosDIETEEMSRDONET
51 tan(a+B)=sin(a+B) = sinacosp+cosasinB

cos(a+B) cosacosB—sinasinB

NCNTHEAFEETNENES

= sinacosPB+ cosasinp
cosacosP cosacosp

1 —sinasinf
cosacosf
=  tana-+tanp

1 —tanatanp

OC2EAD LKL, IEEETR=alHBEROOLNET
Bl D&Y, sin(a+a)=sinacosa+cosasina

sin2a=2sinacosa

@ &Y. cos(a+a)=cosacosa—sinasina

cos2a=cos 2a—sinZa

SHIZ@D&KY . cos2a=1— sin2afsh b,

cos2a=1—2sin2a (®)

@D&Y . sin2a=1— cos2al=hb5.

cos2a=2cos2a—1 (®)

OFfANAKIF. ORXOKXKLYROONET

Bl ®&Y. sin2a=1—cos2a

2 2

OF->M-EICE#LI HAH

Bl D+2KYsin(a+B) + sin(a—p) =2sinacosp (@)

&2 T, sinacosBi{sin(a+B) + sin(a—pB) }
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OFM-E->FBICEHT LR
Bl oa+pB=A. a—PB=B&H<&. a=A+B.p=A—B =Hi.

2 2

DI AL T, sinA+ sinB =2sinA+B cosA—B

2 2

f=hbo=a EESHEZ T, sin2oa=1—cosa

2 2
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